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Fill in the blank to complete the trigonometric identity.
y_y € soda) - see (u)
sin(t}\ _ ‘l:ow. (u) ’\{% u= % - F’ X ) S-v;.‘(b\)
coslu) par T dos ()
1 = dos (Uﬂ

Sec u

Fill in the blank to complete the trigonometric identity.
.
tof (&) = S Tt

1
cotu Ao () 4 i]j

Fill in the blank to complete the trigonometric identity.

sec( £ — u) =] ase (u)
(3-9)

Fill in the blank to complete the trigonometric identity.
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B. + -1 points LarTrigd 2.1.006.

Fill in the blank to complete the trigonometric identity.

. - swx
Sine s edd — s XIS )
cot(—u) =| - cot (W) ocime TS oves — cos(-x) = QoS (x)
SCw) sl

Cog(-n) cos(w)

(o) Coven Yedd) (odd) S (O

_ - — s odc{,
(v (o) (8 ovenr) MNEEHE T

7. + —I6 points LarTrig9 2.1.007.

Use the given values to find the values (if possible) of all six trigpnometric functions. (If an answer is undefined, enter UNDEFINED.

|
Lo lx\ = ?3?
cof ()= )

&)= zZ —“:L\g
Sxdx)——\g— =

cse (N= "2
8. + -[6 points LarTrig9 2.1.008.

Use the giv alues to find the values (if possible) of all six trigonometric functions. (If an answer is undefined, enter UNDEFINED..

29520 = 84(-%00 = Y4 /3 Al
B+

NGt = 2Y ¥9

20 Ea
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9 + -6 points LarTrig9 2.1.009.

Use the given values to find the values (if possible) of all six trigpnometric functions. (If an answer is undefined, enter UNDEFINED.

COS(TI - X _i COSX_£
2 )_ 17" 17 8
" W&
(‘0’7‘(%\— 8
se¢ ()= —
=3
e =g

10. + —/6 points LarTrig9 2.1.010.

Use the given values to find the values (if possible) of all six trigonometric functions. (If an answer is undefined, enter UNDEFINEI

sin(—x}:—l,tanx:—"'_ﬁ2 :,\(qu\ﬁ;—\_ __2:: __L
3 4 T e T uA avz
Sw\(x}:é‘
\Z
cos (k) = - 27
‘E% (gﬁ, 3
-\ ca\l(x = -3
.3 _ 2 a3
see (x) = é AT

Godd Boow.

¢se(x) = -3
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Use the given values to find the values (if possible) of all six trigopnometric functions. (If an answer is undefined, enter UNDEFINED.)
secx =4,sinx >0

| r
. ey 4_(@“')
CUS(‘L\:’\ T S X = v s X = \(E IS’—
\
s ¥

Use the given values to find the values (if possible) of all six trigonometric functions. (If an answer is undefined, enter UNDEFINED.)

Dulh.
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14. + -/1 points LarTrig9 2.1.015.

Match the trigonometric expression with one of the following.

[
- —-c :( ) {
SEC X COS X = 4.y &%

p§.) D.};(,.,\'-l qo'pj Frv QL\O(‘C?S,/

15. + =1 points LarTrig9 2.1.016.

Match the trigonometric expression with one of the following.

cog® | dostx — = dostX
cot2 x — csc2x = X — - X (: _ ”LS
X SaX o2 s&EX
sin x tan x 2
_ SW", |
CSC X SGEX

oR

2 2
sec’ x + tan® x ( - ) 2y = — |

- -/ ) -¢se™X =
cofix- dse™ % = ese X -/ €

O O O O O

sec? x ,
- et (ot x) = -
1
seatx— |
C‘O‘f?x RS CS(‘QX"(
#\Aﬂ[ W(zh, e f ‘j)
L dpe Hre ‘hmclo«
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Deea?x A+ =2 sea?x— |

16. + =M1 points LarTrig9 2.1.017
Match the trigonometric expression with one of the following.
sect x — tan* x
O sec? x + tan? x
O sin x tan x b :(@—b)(atm
¢ L
O 1 X =<>«1) ./
O sec? x 2
Q& 4
" ¥y, = -
O -1 :(Skc 7&'*%»«% ‘(%M1X’L'> X
O cscx Lok +2tonE K+ | Aoy = 2katx +
:Q(gdix—/)“/: L
oL
_ Ty 4 T )
e L
( anb)l - 34 2eb 35" = see K
< a_bsz‘: é-L— 2'Qb ""b/L
17. + -1 peints LarTrig9 2.1.018.

Match the trigonometric expression with one of the following.

cot x sec x f:%j\ L
& Co R
O _1 (A AR

O sin x tan x

O sec? x + tan2 x
O 1

O sec? x

ese(x)
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18. + -1 points LarTrig9 2.1.019.

Match the trigonometric expression with one of the following.

S
sec?x -1 _ A2y _ ro:w; 420 4| =3
sin?x T osx T o t0 1 =
o\f
— . |
1 — Wt ,__(,__ - — = gdzx

O
O sec?zx + tan2 x
O cscx

O sin x tan x

O 1

18. + -/ points LarTrig9 2.1.020.

Match the trigonometric expression with one of the following.
cos?[(m/2) — x] _ sedx _ Co—fome idaditios o

= o ==
Cos X cosx <u X x =3 50

@ - sax S,V\:)C :S‘:<)() —éo‘«é)() j‘;l—— x ﬂc L Jwajs’
o

O 1 CO""'!@QF/V\WA“’CMj MZ@S/
O -1

CSC X

sec? x

O O O

sec? x + tan? x

10
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Factor the expression and use the fundamental identities to simplify. There is more than one correct form of the answer.

6 tan? x — 6 tan? x sin? x

~2 -
e = 4t Ty = —"SW)( . ('_OS'LX ;— Sb‘“lx 5
Co{:w»?’)i (\ — G X\) '& X Cos X eoSq')(

Factor the expression and use the fundamental identities to simplify. There is more than one correct form of the answer.

seace | 8ludd) SRCRITEON
e X — |

_ 8|(sect - 1 (s 60 4D

=8 (&ed(x\+ (\

Factor the expression and use the fundamental identities to simplify. There is more than one correct form of the answer.

cosx — 4
cos2x — 16

_ cos(A) - _ (
(Cos(x) ~a (e 1) cest) +1

Factor the expression and use the fundamental identities to simplify. There is more than one correct form of the answer.

sec? x — tan* x 4 i
K-y = (xi—‘j )()3'4_ Py = G 65471\
( e Ry X)(s: x F“\M'LX> ’
(‘EM'LX 1= tond XB('&""‘LY\"!’ [+ *W} A
Vb OO+ (
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